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Seven questions may be answered. 9 (a) or 9 () may be answered.,
but not both. All questions earry equal marks.

Mathematical Tables may be obtained from the Superintendent.

1. Using Tables, evaluate :
(24:7)0%8 and (0-49)297,

2. Solve the equations :
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(i) V3ZE—To+8 — V3 _Tx—2= 1.

3. A rectangular piece of tin is 5 ins. longer than it 1s wide. An
open box whose volume is 1} cubic ft. is made by cutting a six-inch
square from each corner and turning up the sides : what are the
dimensions of the box !

4. Solve the equation pa®-qetr=0, and show that the sum of

. e
{he roots is — Land their product is - .
P P

If 2— 47 i8 one root of the equation 2*—4-9x-{-¢=0, where a i8
independent of #, find the value of a; and the other root of the
equation.
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5. Express the square root of 1o V2in the form vV — V.

. The »'* term of a series is 3-5n: write down the first four
g and find the sum of n terms.

L 7. How many integral powers of 3 lie between 1 and 10,000,000 ¢

: that the greatest of those powers is more than double the sum
the others.

“ 8. If at+b+e=0, prove that

(i) a®+b34¢®=3abe.

(i) @®4-b°|-c*=babe(c*—ab).

9. (@) Use the Binomial Theorem to write down the first four

5 of the expansion of (2¢—5b)*. Find the 15th term in its
est form.
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9. (b) Under what condition will the expression wa?-bax-¢ have
(i) a mazximum value ?

(i) a minimwm value ?




